
Exercises of chapter “Balanced three-phase systems and operation”

Exercise 1

Here is a snapshot of the RMS voltages, RMS currents, three-phase active, reactive and
apparent powers measured in several MV/LV sub-stations of the Sart Tilman campus :

neglecting the (small) imbalance of voltages and currents, check the values of the
RMS currents in the B28 sub-station;

compare the power factors measured in the B28 and B52 sub-stations, respectively.
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Exercises of chapter “Balanced three-phase systems and operation”

Exercise 2

Consider the High Voltage Direct Current (HVDC) link shown in the figure below.

'

=

Īa
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AC voltage at rectifier end : 400 kV AC voltage at inverter end : 380 kV

voltage Vdr at rectifier end of DC cable : 270 kV (between + pole and ground)

active power entering the rectifier : 1000 MW

reactive power consumed by the rectifier : 650 Mvar

reactive power consumed by the inverter : 600 Mvar 1

rectifier and inverter assumed lossless.

Determine the AC current in each phase of the rectifier and of the inverter.

Draw the phasor diagrams of (V̄a, Īa) and (V̄ ′
a , Ī

′
a), respectively.

1HVDC link with “Line Commutated Converters” : consumes reactive power at both ends
2 / 4
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Exercise 3

A single-phase resistive load is connected between phases a and b of a three-phase
network, as shown in the left figure below. It is thus creating an imbalance.

Consider the same load “compensated” as shown in the right figure below.

Show that, if the network voltages are balanced, so are the line currents2.

What is the per-phase equivalent of the compensated load ?

What is the three-phase reactive power consumed by the compensated load ?
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Using the above result, determine how to compensate a double-phase load made up of
two identical resistors, one between phases a and b, and one between phases b and c.
Hint: use superposition.

2In other words, the load together with its compensator appear balanced if the supply voltages are balanced.
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Exercise 4

This exercise is to show the advantage of connecting in delta the loads that produce
some current harmonics. The latter are undesirable because they create additional losses,
vibrations in rotating machines, etc.

Consider a delta-connected three-phase load, with each branch carrying a current i(t) :

periodic, with period T
odd: i(−t) = −i(t)

exhibiting inside each half period, a symmetry characterized by : i(
T

2
− t) = i(t)
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Show that the currents in the line that feeds this load do not include even harmonics, nor
any harmonic with frequency smaller than 5f where f = 1

T
is the frequency of the

fundamental component.
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